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[P1]

In Section IV.A.2, “We can upper bound (5) as
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by using ln(1 + x) ≤ x.” the first equation is incorrect. It should read: “We
can upper bound (5) as
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[P5]

On page 642, “...the required linear dynamic range required for undistorted
signal reception 99% of time is 20.1, 41.8, 50.7, 58.3, and 65 dB for n =
1, 2, 3, 4, 5, respectively.”
should read
“...the required linear dynamic range required for undistorted signal recep-
tion 99% of time is 30.2, 41.8, 50.7, 58.3, and 65 dB for n = 1, 2, 3, 4, 5,
respectively.”
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